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ASSISTANT DIRECTOR OF CO-OPERATIVE AUDIT IN TAMIL NADU 
CO-OPERATIVE SERVICE – 30-04-2022 

 
1. In __________Periyar organized the Dravida Nadu conference for the 

advocacy of a separate independent Dravida Nadu. 
a. 1937   b. 1938   c. 1939    

d. 1940   e. Answer not known 
xU jdpahd, Rje;jpukhf nray;gLk; jpuhtpl ehl;il Vw;gLj;Jtjw;fhf 
nghpahh; jpuhtpl ehL khehl;bid __________ y; $l;bdhh;. 
a. 1937  b. 1938 c. 1939  d. 1940  
e. tpil njhpatpy;iy 

 
2. Who was called as ‘Tilak of Tamilnadu’? 

a. E.V. Ramasamy  b. C. Rajaji  c. T.M. Nair 
d. V.O. Chidambaram pillai 
e. Answer not known. 
`jkpo;ehl;bd; jpyfh;’ vd;W miof;fg;gLgth; ahh;? 
a. <.Nt.uhkrhkp   b. rp.uh[h[p   c. b. vk; ehah; 

 d. t. c. rpjk;guk;gps;is e. tpil njupatpy;iy 
 

3. ‘Dare to do a thing ________’ 
_________ it is shameful to say 
As per the above Thirukkural how should we enter an action?  
a. After accumulating enormous wealth  
b. After doing sacrifice  
c. After deep thinking  
d. At an appropriate time 
e. Answer not known 
`___________ Jzpf fUkk; Jzpe;j gpd;’ 
____________ vd;g jpOf;F 
vt;thW xU nraypy; <Lgl Ntz;Lk; vdj; jpUts;Sth; Nkw;$wpa Fwspy; 
mwpTWj;Jfpwhh; 
a. epiwag; nghUs; Nrh;j;j gpwF 
b. jhdk; nra;j gpwF 
c. ed;whfr; rpe;jpj;J mjw;Fg; gpwF 
d. jf;f fhykwpj;J 
e. tpil njhpatpy;iy 



 

2 | P a g e  
 

 
4. Who is the author of the haiku poem “pullin nuniyil panithuli”? “there 

are dews at the tip of the grass”. 
a. Arivumathi  b. Amutha barathi c. Kalaniuran 
d. Tamilanban  e. Answer not known 
“Gy;ypd; Edpapy; gdpj;Jsp” vd;w i`f;$ ftpij E}ypd; Mrpupah; ahh;? 
 a. mwpTkjp   b. mKj ghujp  c. fodpa+ud;    
d. jkpod;gd;  e. tpil njupatpy;iy 
 
 

5. What is the name of the poetic play which contains Neerarung 
kadaluduth…. the “Thamizh Thaai Vaazhthu”? 
a. Manonmaniam   b. Athirai   c. Ambaapali  
d. Anicha adi   e. Answer not known. 
jkpo;j;jha; tho;j;jhf ,irf;fg;ngWk; “ePuhUq; flYLj;j….” vd;w 
jkpo;j;nja;t tzf;fg; ghly; ,lk;ngw;Ws;s ftpij ehlf E}ypd; ngah; 
vd;d?      
a. kNdhd;kzPak;   b. Mjpiu   c. mk;ghgyp   
d. mdpr;r mb   e. tpil njupatpy;iy 

 
6. To come with gold and depart with curry  

In which book does the above lines find a place ?  
a. Malaipadukadaam  b. Manimekalai  c. pattinapaalai  

d. Maduraikanchi   e. Answer not known 
`nghd;ndhL te;J fwpnahL ngaUk;’ – njhlu; ,lk;ngw;w E}y; vJ? 
a. kiygLflhk;   b. kzpNkfiy  c. gl;bdg;ghiy  
d. kJiuf;fhQ;rp    e. tpilnjhpatpy;iy 

 
7. The capital city of sangam cheras was  

a. Kanchi    b. Musiri    c. Venni    
d. Vanji   e. Answer not known 
rq;ffhy Nruh;fspd; jiyefuk; 
a. fhQ;rp   b. Krpwp  c. ntz;zp    

 d. tQ;rp   e. tpil njupatpy;iy 
 

8. What is the expansion of NSDP? 
a. National service and Domestic product 
b. Net state and District product  
c. National share in Domestic product  
d. Net state Domestic product 
e. Answer not known  
NSDP apd; tphpthf;fk; ahJ? 
a. Njrpa Nrit kw;Wk; cs;ehl;L cw;gj;jp 
b. epfu khepy kw;Wk; khtl;l cw;gj;jp 
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c. Njrpa gq;fPL cs;ehl;L cw;gj;jpapy; 
d. epfu khepy cs;ehl;L cw;gj;jp 
e. tpil njupatpy;iy 

 
9. ___________ is awarded to the BC/MBC/DNC boys and girls who secure 

the first and second marks in the 12th public examination in each district 
and pursue their studies in professional colleges in Tamil Nadu  
a. Annal Gandhi Memorial Award  
b. Perarignar Anna Memorial Award  
c. Muthulaxmi Ammaiyar Memorial Award 
d. Thanthai periyar Memorial Award 
e. Answer not known  
xt;nthU khtl;lj;jpYk; 12 Mk; tFg;G nghJj; Njh;tpy; Kjy; kw;Wk; 
,uz;lhk; ,lq;fisg; gpbj;J jkpo;ehl;by; cs;s njhopy; Kiw 
fy;Y}hpfspy; gapYk; BC/MBC/DNC khzt khztpah;f;F toq;fg;gLk; 
tpUJ __________ MFk;. 
a. mz;zy; fhe;jp epidT tpUJ  
b. NguwpQh; mz;zh epidT tpUJ  
c. Kj;Jnyl;Rkp mk;ikahh; epidT tpUJ  
d. je;ij nghpahh; epidT tpUJ 
e. tpil njhpatpy;iy 

 
10. What was the main purpose behind bringing panchayati Raj system in 

India? 
a. To prevent criminalization of politics  
b. Development of villages 
c. Decentralisation of the political power to the  people  
d. To reduce election expenses 
e. Answer not known 
,e;jpahtpy; gQ;rhaj;J uh[; Kiwia nfhz;L te;jjpd; Kf;fpakhd 
Nehf;fk; vd;d? 
a. murpaypy; Fw;wthspfis jLg;gjw;F 
b. fpuhkg; Gw tsh;r;rpf;F 
c. murpay; mjpfhuj;ij gutyhf;fk; nra;a 
d. murpay; nryit Fiwf;f 
e. tpil njupatpy;iy 
 

11. Tamilnadu is the __________ largest Indian state by area. 
a. 9th   b. 10th  c. 11th  d. 12th  e.  Answer not known 
,e;jpa khepyq;fspy; jkpo;ehL> gug;gstpy; _________ tJ ,lj;jpy; 
cs;sJ. 
a. 9tJ  b. 10tJ  c. 11tJ   d. 12tJ  
e. tpil njhpatpy;iy 
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12. Tamilnadu state Industries Development Corporation (TANSIDCO) was 
established in the year 
a. 1960  b. 1965 c. 1970 d. 1975 e. Answer not known. 
jkpo;ehL rpW njhopy;fs; tsh;r;rpf; fofk; (TANSIDCO ) Jtq;fg;gl;l 
Mz;L  
a. 1960 b. 1965 c. 1970 d. 1975 e. tpil njhpatpy;iy 
 

 
13.  A lent ₹ 15,000 to B at the rate of interest of 14% per annum.  After 6 year, 

B returned ₹ 25,000 and a watch.  The cost of watch is 
a. ₹ 2,600  b. ₹ 1,980  c. ₹1,850  d. ₹ 1,760 
e. Answer not known 
A Mdth; Mz;L Xd;Wf;F 14% tl;b tPjj;jpy; B-f;F ₹15>000-I fldhf 
nfhLf;fwhh;.  6 Mz;LfSf;F gpd; B Mdth; A f;F ₹ 25>000-k; xU 
iff;fbfhuKk; jUfpwhh; vdpy; iff;fbfhuj;jpd; tpiy  
a. ₹ 2>600  b. ₹ 1,980  c. ₹ 1,850  d. ₹1,760 
e. tpil njhpatpy;iy 

 
14.  When 60 is subtracted from 60% of a number to give 60, the number is  

a. 60   b. 100  c. 150  d. 200 e. Answer not Known. 
Xh; vz;zpd; 60 ypUe;J 60If; fopj;jhy; 60 fpilf;Fk; vdpy;, me;j vz 
a. 60  b. 100 c. 150  d. 200 e. tpil njhpatpy;iy  

 
15.  IF MATHEMATICS  is denoted by 52793527618 then ETHICS is denoted 

by? 
a. 397618  b. 379168  c. 376918  d. 379618 

e. Answer not known 
MATHEMATICS vd;gJ 52793527618 vd;wthW Fwpf;fg;gl;lhy; ETHICS 
vd;gJ vt;thW Fwpg;gplg;gLk;? 

   a. 397618   b. 379168   c. 379618  
      d. 379618   e. tpil njhpatpy;iy 
 
16.  What is the smallest 5 digit number that is exactly divisible by 72 and 108? 

a. 10152   b. 10052  c. 10502  d. 10512 
e. Answer not known 
72 kw;Wk; 108 Mfpa vz;fshy; rhpahf tFglf;$ba kpfr;rpwpa 5 ,yf;f 
vz; vd;d 
a. 10152   b. 10052   c. 10502  
d. 10512   e. Answer are known 
 

17.  A alone can do a work in 10 days and B alone in 15days.  They undertook 
the work for ₹ 2,00,000. The amount that B will get is  
a. ₹ 80,000  b. ₹ 1,00,000   c. 1,40,000  d. 1,20,000 
e. Answer not  known 
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A vd;gth; jdpNa xU Ntiyia 10 ehs;fspYk; B Mdth; jdpNa 15 
ehs;fspYk; Kbg;gh;.  mth;fs; ,e;j Ntiyia ₹2,00,000 njhiff;F Xg;Gf; 
nfhz;ldh; B ngWk; njhif _______________ MFk;.   
a. ` 80,000  b.  ` 1,00,000  c. ` 1,40,000  d. 1,20,000  

e. tpil njhpatpy;iy 
 

18.  A can do a work in 15 days and B in 20 days. If they work on it together   
for 4 days, then the fraction of the work that is left is  

a. 1
4   b. 1

10  c.7 15   d. 8
15  e. Answer not known 

A vd;gth; xU Ntiyia 15 ehl;fspYk;, B vd;gth; mNj Ntiyia 20 
ehl;fspYk; nra;J Kbf;f ,aYk;. ,UtUk; Nrh;;e;J mNj Ntiyia 4 
ehl;fs; nra;j gpd; kPjkpUf;fk; Ntiyapd; msT 

a. 1
4   b. 1

10  c.7 15   d. 8
15  e. tpil njhpatpy;iy 

 
19.  If the interest is compounded quarterly, by which the following formula 

can we calculate the amount? 

a. 1
100

n
r

A P
 

= + 
 

   b. 
2

1
100

n
r

A P
 

= + 
 

 

c. 
3

1
100

n
r

A P
 

= + 
 

   d. 
4

1
100

n
r

A P
 

= + 
 

 

e. Answer not known  
$l;L tl;bahdJ fhyz;Lf;F xU Kiw fzf;fplg;gl;lhy; njhifia 
__________ vd;w #j;jpuj;ijg; gad;gLj;jpf; fhzyhk;. 

a. 1
100

n
r

A P
 

= + 
 

   b. 
2

1
100

n
r

A P
 

= + 
 

 

c. 
3

1
100

n
r

A P
 

= + 
 

   d. 
4

1
100

n
r

A P
 

= + 
 

 

e. tpil njhpatpy;iy  
 
20.  A sum of rupees 800 amounts to rupees 920 in 3years at simple interest.  

If the rate of interest is increased by 3%, what would be the amount? 
a. 990   b. 992  c. 1092  d. 892 
e. Answer not known 
&gha; 800 MdJ 3 tUl jdptl;bapy; nkhj;jk; &. 920 Mf khWfpwJ. 
tl;b tPjk; 3% mjpfhpj;jy; fpilf;Fk; njhif vd;d? 
a.  990  b. 992  c. 1092  d. 892  

 e. tpil njhpatpy;iy 
 
21.  If 48 men working 7hours a day can do a work in 24 days, then in how 

many days will 28 men working 8 hours a day can complete the same 
work? 
a. 36 days   b. 42 days  c. 56 days   d. 28 days 
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e. Answer not known 
48 Mz;fs; xU Ntiyia ehnshd;Wf;F 7 kzp Neuk; Ntiy nra;J 24 
ehl;fspy; Kbg;gh; vdpy; 28 Mz;fs; mNj Ntiyia ehnshd;Wf;F 8 
kzpNeuk; Ntiy nra;J vj;jid ehl;fspy; Kbg;gh;. 
a. 36 ehl;fs;  b. 42 ehl;fs;  c. 56 ehl;fs;  d. 28 ehl;fs;  
e. tpil njhpatpy;iy 
 

22.  Find the L.C.M. of  ( ) ( )
23 3 ,x a x a− −  . 

a. ( )( )3 3x a x a− +    b. ( )( )
23 3x a x a− −  

c. ( ) ( )
2 2 2x a x ax a− + +   d. ( ) ( )

2 2 2x a x ax a+ + +  

e. Answer not known 

( ) ( )
23 3 ,x a x a− −  Mfpatw;wpd; kP.ngh.k. 

a. ( )( )3 3x a x a− +    b. ( )( )
23 3x a x a− −  

c. ( ) ( )
2 2 2x a x ax a− + +   d. ( ) ( )

2 2 2x a x ax a+ + +  

e. tpil njhpatpy;iy 
 

23.  Find the G.C.D. of 4 3 2 5 41, 1, 1x x x x x x x− − + − − − + . 

a. 2 1x +    b. ( )( )2 1 1x x+ +   c. ( )( )2 1 1x x+ −  

d. ( )( )2 1 1x x− +   e. Answer not known 

kP.ngh.t fhz;f  4 3 2 5 41, 1, 1x x x x x x x− − + − − − + . 

a. 2 1x +    b. ( )( )2 1 1x x+ +   c. ( )( )2 1 1x x+ −  

d. ( )( )2 1 1x x− +   e. tpil njhpatpy;iy 

 
24.  15% of 25% of 10,000 = 

a. 375  b. 400  c. 425  d. 475 e. Answer not known 
10,000 ,d; 25% kjpg;gpd; 15% vd;gJ __________ MFk;. 
a. 375  b. 400  c. 425  d. 475 e. tpil njhpatpy;iy 

 
25.  The device used to perform chain reaction of nuclear fission in a 

controlled manner is  
a. Nuclear reactor  b. Atom bomb  c. Electric furnace  
d. Chemical furnace   e. Answer not known 
mZf;fUg; gpsitapd; njhlh; tpidia fl;Lg;ghl;Lld; elj;j cjTk; 
rhjdk; _________ MFk;. 
a. mZf;fU ciy  b. mZFz;L   c. kpd; mLg;G  
d.  Ntjptpid mLg;G  e. tpil njhpatpy;iy 
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26. The path of a particle projected into air with a given velocity in a particular 
direction is a  
a. straight line   b. Ellipse   c. Hyperbola    
d. Parabola   e. Answer not known 
XU Fwpg;gpl;l jpirapy; nfhLf;fg;gl;l jpirNtfj;jpy; nrYj;jg;gl;l Jfs; 
__________ ghijapy; nry;Yk;. 
a. Neh;NfhL   b. ePs;tl;lk;  c.  mjpgutisak;  
d. gutisak;   e. tpil njhpatpy;iy 

 
27.  Which of the following best defines rote memorization? 

a. A learning process that involves repetition until something is   
      remembered verbatim.  
b. A method of writing something down in order to remember it more  
      easily. 
c.  Repeatedly quizzing yourself.  
d. None of the above. 
e. Answer not known 
FUl;L kdg;ghlk; nra;tjpy; gpd;tUtdtw;Ws; vJ rpwe;jj? 
a. VjhtJ epidT tUk;tiu kPz;Lk; kPz;Lk; fw;wy; nray;Kiw  
b. vijahtJ vspjpy; epidtpy; nfhs;tjw;fhf mij vOJk; Kiw  
c. kPz;Lk; kPz;Lk; cq;fSf;Fs; tpdh vOg;Gk; Kiw  
d. Nkw;fz;l vJTk; ,;y;iy 

 
28.  Minamata disease, a neurological disorder affecting human beings, is 

caused by the pollutant 
a. Arsenic    b. Copper     c. Mercury   
d. Aluminium  e. Answer not Known 
gpd;tUk; ve;j khR “kpdNkl;lh Neha;” vdg;gLk; kdpjh;fspd; euk;G 
kz;lyj;ij jhf;fk; Nehapid Vw;gLj;JfpwJ? 
a. Mh;rdpf;    b. jhkpuk;    c. ghjurk;   
d. mYkpdpak;  e. tpil njhpatpy;iy 

 
29.  Identify the false statement. 

a. Ladakh is called Little Tibet. 
b. Bhutan is a buffer state between India and China. 
c. Nepal is a land locked country. 
d. Only four states of India touch the Nepalese border. 
e. Answer not Known 
jtwhd $w;W vJ? 
a. ylhf; `rpwpa jpngj;’ vd miof;fg;gLfpwJ. 
b. G+lhd;, rPdh kw;Wk; ,e;jpahtpd; ,ilapyhd ,izg;G gFjp MFk;. 
c. Neghsk; epyk; #o; ehlhFk;.  
d. ,e;jpahtpd; ehd;F khepyq;fNs Neghs vy;iyia njhLfpd;wd  
e. tpil njhpatpy;iy 
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30.  “Unfinished” – A memoir is an autobiography of the actress 

a. Mala Sinha  b. Priyanka Chopra Jonas 
c. Rekha    d. Hema Malini 
e. Answer not known 
Kbf;fg;gltpy;iy: xU epidtfk; (Unfinished-A memoir) ve;j ebifapd; 
Rarhpj;jpuk; 
a. khyh rpd;`h   b. gphpaq;fh Nrhg;uh N[hd];  c. Nufh

  
d. N`kkhypdp   e. tpil njhpatpy;iy 
 

31.  Mention the year, Pani panchayat was formed in Odisa. 
a. 1999  b. 2000  c. 2003  d. 2005 
e. Answer not known 
Xhprhtpy; jz;zPh; gQ;rhaj; njhlq;fg;gl;l Mz;L. 
a. 1999  b. 2000  c. 2003  d. 2005  
e. tpil njhpatpy;iy 
 

32.  “satyameva Jayate” Truth alone Triumphs originally written in the  
   language of  
  a. Devanagari   b. Urdu  c. Sanskrit  
  d. Hindi    e. Answer not known 
“rj;aNkt n[aNj” tha;ikNa nty;Yk; Kjypy; ve;j njhopapy;  
vOjg;glLs;sJ? 
a. Njtefhp   b. cUJ   c. rk];fpUjk;  d. `pe;jp  
e. tpil njhpatpy;iy 
 

33.  Which race is found in the Himalayan and Sub – Himalayan regions? 
a. Indo- Aryans   b. Dravidians   c. Mangoloids 
d. Arya- Dravidian  e. Answer not known 
,khyah kw;Wk; Jiz ,khyag; gpuNjrq;fspy; fhzg;glf;$ba ,dk; 
VJ? 
a. ,e;Njh – Mh;ah;fs;   b. jpuhtplh;fs;   c. kq;Nfhypah;  
d. Mh;a- jpuhtplh;fs;  e. tpil njhpatpy;iy 
 

34.  The Airport Authority of India (AAI) has a civil Aviation Training college 
at  
a. Delhi   b. Allahabad  c. Bangaluru  
d. Kolkatta   e. Answer not known  
,e;jpa tpkhd epiya Mizak; rKjha Mfha tpkhdg; gapw;rpf; fy;Y}hp 
vq;F mike;Js;sJ? 
a. nly;yp   b. myfhghj;     c. ngq;fSh;  
d. nfhy;fj;jh  e. tpil njhpatpy;iy 
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35. Which  out of the following is a west flowing river in India? 
a. Mahanadhi   b. Krishna  c. Narmadha 
d. Godavari  e. Answer not known 
gpd;tUtdtw;wpy; ,e;jpahtpd; Nkw;F Nehf;fp ghAk; ejp  vJ? 
a. kfhejp  b. fpU~;zh   c. eh;kjh  
d. Nfhjhthp  e. tpil njhpatpy;iy 
 

36.  Consider the following statement/s is/are true in respect of Himalayas. 
i.  The Himadri range consists of many snow capped peaks such as Nanda  
     Devi, kamet and Trishul. 
ii. The Himadri range is called as “The abode of snow”. 
a. (i) only    b. (ii) only   c. Both (i) and (ii)  
d. None of the above  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ,kakiy njhlh;ghd $w;W/$w;Wfis fUj;jpy; 
nfhz;L rhpahdij njhpT nra;f. 
(i) `pkhe;hp njhluhdJ ee;jhNjtp> fNkl; kw;Wk; jphp~_y; Nghd;w gy gdp  
  Kba rpfuq;fisf; nfhz;Ls;sJ. 
(ii) `pkhe;hp njhluhdJ “gdpapd; ciwtplk;” vd;W miof;fg;gLfpwJ. 
a. (i) kl;Lk;   b. (ii) kl;Lk;  c. (i),(ii) Mfpa ,uz;Lk;  
d. Nkw;$wpatw;wpy; vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

37.  The  National lntegration Conference under the leadership of Nehru was 
held in 
a. 1961  b. 1960  c. 1959  d. 1962  
e. Answer not known  
NeU jiyikapyhd Njrpa xUikg;ghl;L fUj;juq;fk; eilngw;w Mz;L. 
a. 1961  b. 1960  c. 1959  d. 1962 
e. tpil njhpatpy;iy 
 

38.  The practice of sati was declared “illegal and punishable” by  
a. Lord William Bentinck   b. Lord Dalhousie  
c. Lord Cornwallis   d. Lord  Wellesley 
e. Answer not known 
cld;fl;il VWk; tof;fk; rl;lj;jpw;F Gwk;ghf> jz;lidf;Fhpa Fw;wk; 
vdf; $wpath; 
a. tpy;ypak; ngz;bq; gpuG  b. ly;n`srp gpuG 
c. fhud;thyp]; gpuG   d. nty;ny];yp gpuG 
e. tpil njhpatpy;iy 

 
39. Assertion (A): Chauth and Sardesh Mukhi were the important sources 

    of Maratha state Revenue.  
Reason  (R): Chauth was a charge of 25% of the land Revenue of the 
    area which was claimed by the Maarathas as a price  for 
    offering their protection against foreign aggression. 
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    Sardesh Mukhi was a charge equal to 1
10 of the land 

    revenue. 
a. (A) is true but (R) is false  
b. Both (A) and (R ) are true (R) is the correct explanation of (A) 
c. (A) is false but (R) is true  
d. Both (A) and (R) are true but (R) is not the correct explanation of (A)  
e. Answer not known 
$w;W (A):  rTj; kw;Wk; rh;Nj~;Kfp thpfs; kuhj;jpa murpd; Kf;fpa 
    tUtha; Mjhuq;fs; MFk;. 
fhuzk; (R): ‘rTj;thp’ vd;gJ mz;zpah;fspd; Mf;fpukpg;gpy; ,Ue;J 
    ghJfhf;f Ntz;b nkhj;j epytUthapy; 25% 
    t#ypf;fg;gl;lJ. ‘rh;Nj~;Kfp’ thp epytUthapy; gj;jpy; 

    xU gq;F 1
10  t#ypf;fg;gl;lJ. 

 a. (A) rhp Mdhy; (R)jtW. 
 b.(A) kw;Wk; (R) Mfpa ,uz;Lk; rhp. (R) vd;gJ (A) tpw;F rhpahd  
    tpsf;fkhFk;  
 c. (A) jtW Mdhy; (R) rhp 
 d. (A) kw;Wk;(R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd  
    tpsf;fky;y. 

 e. tpil njhpatpy;iy 
 

40. Who appoints the member and chairman of the central Information 
commission ?  
a. President alone can appoint  
b. Chief Justice of supreme court of India  
c. Committee under the leadership of prime Minister 
d. Home minster of the country 
e. Answer not known 
kj;jpa jfty; Mizaj;jpd; jiyth; kw;Wk; cWg;gpdh;fis epakpg;gJ 
ahh;? 
a. FbauRj; jiyth; kl;Lk; epakpf;fyhk; 
b. cr;rePjpkd;w jiyik ePjpgjp  
c. gpujkhpd; fPo; cs;s mikg;G 
d. cs;Jiw mikr;rh;  
e. tpil njhpatpy;iy 
 

41. Match the following and choose the correct answer from the options 
below: 

States   Formation (Year) 
A. Kerala   1. 1963 
B. Nagaland    2. 1966 
C. Maharashtra   3. 1956 
D.   Haryana   4. 1960 
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 (A) (B) (C)  (D) 
a.    1  3  2  4 
b.    3    1  4  2 
c.    4  3  2  1 
d.    3  4  2  1 
e.   Answer not known 
fPNo fhzg;gLk; gl;bay;fis nghUj;Jf.  gpwF rhpahd tpilia 
Njh;e;njLf;fTk;.  
khepyk;    Njhw;wk; (tUlk;) 
a. Nfush    1. 1963 
b. ehfhyhe;J    2. 1966 
c. k`huh~;buk;    3. 1956 
d. `hpahdh    4. 1960 

  (A) (B)  (C) (D) 
 a.    1   3   2   4 
 b.   3   1        4   2 
 c.      4     3   2   1 
 d.   3         4        2        1 
 e.      tpil njhpatpy;iy 
 

42. Fundamental Duties were incorporated in the constitution on the 
recommendation of  
a. Shah Commission    b. Santhanam committee  
c. Administrative reforms commission  d. Swarnam Sigh Committee 

e. Answer not known 
mbg;gilf; flikfs; murpayikg;gpy; Nrh;f;f ghpe;Jiw nra;jJ. 
a. ~h Mizak;  b. re;jhdk; fkpl;b 
c. eph;thf rPh;jpUj;j Mizak;   
d. Rtud;rpq; FO 
e. tpil njhpatpy;iy 

 
43. Which of the following is mismatched? 

a. Article 40 : Organisation of village panchayats  
b. Article 44 : Uniform Civil Code 
c. Article 41 : Organisation of Agriculture and animal husbandry 
d. Article 39A : Equal Justice and free legal aid 

      e. Answer not known 
 fPo;fz;ltw;Ws; jtwhd $w;iw Rl;Lf  

a. tpjp 40   : fpuhk gQ;rhaj;J mikg;G  
b. tpjp 44  : nghJ rptpy; FwpaPL  
c. tpjp 41  : tptrhak; kw;Wk; fhy;eil tsh;g;G mikg;G  
d. tpjp 39A  : rkePjp kw;Wk; ,ytr rl;l cjtp 
e. tpil njhpatpy;iy 
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44. The following was included as part of the Land reforms initiated in India? 
a. Abolition of Intermediaries   b. Tenancy reforms  
c. Reorganisation of Agriculture   d. All the above 

e. Answer not known 
,e;jpahtpy; njhlq;fg;gl;l epyr; rPh;jpUj;jj;jpd; gFjpahf gpd;tUtd 
Nrh;f;fg;gl;lJ? 
a. ,ilj;jufh;fis xopj;jy;     b. Fj;jif rPh;jpUj;jq;fs;  
c. tptrha kWrPuikg;G     d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy 

      
45. The following is/are the objectives of Fiscal policy 

i. Improving the Growth performance of the Economy  
ii. Ensuring social Justice to the people  
iii. Full employment  
iv. Exchange Rate stability 
a. (i) and (ii) only    b. (i) only  
c. (ii) and (iv) only   d. (i),(ii),(iii) and (iv) 
e. Answer not known  
fPo;f;fz;lit epjpf;nfhs;ifapd; Nehf;fk;/Nehf;fq;fs;: 
(i) nghUshjhu tsh;r;rp nray;jpwid Nkk;gLj;Jjy; 
(ii) kf;fSf;F rKf ePjpia cWjp nra;jy;  
(iii) KO Ntiytha;g;G 
(iv)epiyahd khw;W tpfpjk;  
a. (i) kw;Wk; (ii) kl;Lk;     b. (i) kl;Lk;  
c. (ii) kw;Wk; (iv) kl;Lk;    d. (i), (ii), (iii) kw;Wk; (iv) 
e. tpil njhpatpy;iy 

 
46.  Choose the right answer:  

Mangal pandey openly called the Indian soldiers to take revenge against 
the British on  
a. 23rd January 1857  b. 26th January 1857 
c. 29th March 1857  d. 8th April 1857 
e. Answer not known  
rhpahd tpilia Njh;e;njbf :  
kq;fy; ghz;Nl ,e;jpa Nghh; tPuh;fis mioj;J Mq;fpNyah;fis gopthq;f 
gfpuq;fkhf $wpa ehs; 

 a. 23-k; [dthp 1857  b. 26-k; [dthp 1857 
 c. 29-k; khh;r; 1857  d. 8-Mk; Vg;uy; 1857 
 e. tpil njhpatpy;iy 

 
47.  The cabinet Mission plan was “The best plan put up by the British 

Government under the then circumstances” described by  
a. Nehru   b. Gandhi   c. Rajaji   d. Jinnah 
e. Answer not known  
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mikrruit J}Jf;FO jpl;lk;> “md;iwa fhyr; #oypy; nfhz;Ltug;gl;l 
cd;djkhd jpl;lk;” vd;W th;zpj;jth;. 
a. NeU   b. fhe;jp   c. ,uh[h[p  d. [pd;dh  
e. tpil njhpatpy;iy 
 

48.  Gandhi got help from sardar patel to organise the no-tax campaign for 
the peasants at  
a. Gujarat  b. Kheda  c. Surat   d. Khera 

e. Answer not known  
tptrhapfSf;F vq;F thp ,y;yh gpur;rhuj;ij Vw;ghL nra;a rh;jhh; 
gNlyplk; ,Ue;J fhe;jp cjtp ngw;whh;. 
a. F[uhj;jpy;   b. Nflh    c. #uj;  
d. Nfuh    e. tpil njhpatpy;iy 
 

49. Match the following: 
(A) Justice Party    1. Jotirao Phule 
(B) Self Respect Movement  2. Chhtrapati shanu Maharaj 
(C) Satya shodhak Movement 3. E.V.Ramasamy 
(D) Satya shodhak Samaj  4. T.M. Nair 

  (A) (B) (C) (D) 
 a.  4 3 1  2 
 b.  3 4 1  2 
 c.   2 3 4  1 
 d.  4 3 2  1 
 e.  Answer not known 

nghUj;Jf :  
a. ePjpf;fl;rp     1. N[hjpuht; G+Ny  
b. Ra khpahih ,af;fk;   2. rj;jpugjp ~hD kfhuh[; 
c. rj;jpa Nrhjf; ,af;fk;   3. <.Nt. uhkrhkp 
d. rj;a Nrhjf; rkh[;    4. b.vk;. ehah; 

         (A) (B) (C) (D) 
a.   4   3   1   2 
b.   3         4         1        2  
c.         2         3         4        1 
d.   4         3          2        1 
e.   tpil njhpatpy;iy 
 

50. Kulakalvi Thittam was introduced by 
a. K.Kamaraj   b. C. Rajaji   d. C.N. Annadurai

 d. T.Prakasam   e. answer not known 
Fyf; fytpj; jpl;lj;ij mwpKfg;gLj;jpath;  
a. K. fhkuhrh;   b. C. uh[h[p  c. C.N. mz;zhJiu 
d. T. gpufhrk;   e. tpil njhpatpy;iy 
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51. “India wants only purna Swaraj and not higher powers and more 
employments” Quote was given by  
a. J. Nehru    b. Rajagopalachari   c. Mahatma Gandhi  
d. Annie Besant   e. Answer not known  
,e;jpahtpw;F Njit G+h;z rje;jpuk; kw;Wk; Ntiytha;g;Gfs; Mdhy; 
cahpa gjtpfs; my;y” vdf; $wpath;. 
a. [.NeU    b. uh[h Nfhghyrhhp   c. kfhj;kh fhe;jp  
d. md;dp ngrd;l;  e.  tpil njhpatpy;iy 

 
52.  ‘__________’ Foeman’s insolence o’er grown  

To lop away no keener steel is known  
‘____________’ what does Thiruvalluvar mean ? 
a. Wealth   b. Knowledge   c. Intelligence  
d. Bravery   e. Answer not known  
‘_________’ nrWeh; nrUf;F mWf;Fk;  
v/F mjdpd; $hpaJ ,y;” – vd ts;Sth; Fwpg;gpLtJ? 
a. nry;tk;   b. mwpT   c. Nfs;tp Qhdk; 
d. tPuk;   e. tpil njhpatpy;iy 
 

53.  Though sharp their wit as file, as blocks they must remain,  
 In the above Thirukkural whom does Thiruvalluvar refer to as sharp and   
 their wit is file?  
a. The one who does not speak truth  
b. The one who does not have human courtesy  
c. The one who has no wealth 
d. The one who has no foes 
e. Answer not known  
muk;NghYk; $h;ik ahNuDk; kuk;Nghy;th; ahh;? 
a. cz;ik ,y;yhjth;   b. kf;fl; gz;gpy;yhjth; 
c. nghUs; ,y;yhjth;  d. gif ,y;yhjth; 
e.  tpil njhpatpy;iy 
 

54.  The original name of Karikal chola  
a. Karikala    b. Arunmozhi   c. Thirumavalavan  
d. Sundarar  e. Answer not known  
fhpfhw; Nrhodpd; ,aw;ngah; 
a. fhpfhyd;   b. mUz;nkhop  c. jpUkhtstd;    
d. Re;juh;   e. tpil njhpatpy;iy 
 

55.  “Namaarkkum kudiyallam Namanai Anjam” – Identify the poet who had 
composed the poem.  
(I am not a slave for anybody.  I am not afraid to Yama Dharman) 
a. Thirugnasambandhar   b. Thirunavukkarasar 
c. Manicka vasagar    d. Thirumoolar 



 

15 | P a g e  
 

e. Answer not known  
“ehkhh;f;Fk; Fbay;Nyhk; ekid mQ;;Nrhk;” vd;W ghbath; ahh;? 
a. jpUQhdrk;ge;jh;   b. jpUehTf;furh; 
c. khzpf;fthrfh;   d. jpUKyh; 
e. tpil njhpatpy;iy  
 

56. ‘Nee kandanaiyo? Kandaar ketanaiyo?’ – Who spoke these words and to 
whom? 
(Did you witness? or did you hear from any witness?) 
a. Hero to his friend   b. Lady love to ministrel/musician 

c. Lady love to her nurse d. Lady love to her hero  
e. Answer not known  
‘eP fz;lidNah? fz;lhh; Nfl;lidNah?’ ,g;ghly; thp ahh; ahhplk; 
tpdtpaJ? 
a. jiytd; Njhopaplk;  b. jiytp ghzdplk; 
c. jiytp ghzdplk;   d. jiytp jiytdplk;  
e. tpil njhpatpy;iy 
 

57.  Kaviripoom pattinam was engulfed by the sea during 2nd century A.D 
was mentioned in which book? 
a. Kundalakesi  b. Manimekalai   c. Silappathikaram 
d. Valaiyapathi   e. Answer not known  
ve;j E}y; fhtphpG+k;gl;bdk; fp.gp. 2-k; E}w;whz;by; flyhy; Ko;fbf;fg;gl;lJ  
vd Fwpg;gpLfpwJ? 
a. Fz;lyNfrp   b. kzpNkfiy   c. rpyg;gjpfhuk; 
d. tisahgjp   e. tpil njhpatpy;iy 

 
58.  Why Chennai is called as Banking capital of India? 

a. Attracted investments from International Finance Corporation and  
    World Bank  
b. High Domestic Saving   c. High per capita income  
d. More number of Borrower’s   e. Answer not known  
Vd; nrd;id tq;fpj; jiyefuk; vd;W miof;fg;gLfpwJ? 
a. cyf tq;fp kw;Wk; gd;dhl;L epjp epWtdq;fspypUe;J mjpf mstpy;  
  KjyPLfis <h;j;Js;sJ 
b. mjpf cs;ehl;L Nrkpg;G    c. cah;e;j jyh tUkhdk;  
d. mjpf vz;zpf;ifapyhd fld; ngWgth;fs;  
e. tpil njhpatpy;iy 
 

59.  The Tamil Virtual University was renamed as  
a. Tamil Virtual Academy   b. Tamil Virtual Agency  
c. Tamil  Visual Agency   d. Tamil Visual Agency  
e. Answer not known  
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jkpo; ,iza gy;fiyf;fofk; _____________ vd ngah; khw;wk; 
nra;ag;gl;Ls;sJ.  
a. jkpo; ,iza fy;tpf;;fofk;   b. jkpo; ,iza epWtdk;  
c. jkpo; fhl;rp fy;tpf;fofk;   d. jkpo; fhl;rp epWtdk;  
e. tpil njhpatpy;iy 

 
60. Human Development Index is based on  

a. Life Expectancy Index   b. Education Index  
c. GNI per capita     d. All the above  

e. Answer not known 
kdpj tsh;r;rpf; FwpaPlhdJ __________ mbg;gilahf nfhz;lJ. 
a. Mal;fhyk;      b. fy;tp    
c. jdpegh; nkhj;j Njrpa tUkhdk; (GNI per capita) 
d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy 
 

61. Tamil Nadu Rural Transformation project is assisted by  
a. World Bank   b. United Nations Organization 
c. International Fund for Agricultural  
d. Asian Development Bank  
e. Answer not known 
jkpo;ehL Cuf Gj;jhf;fj; jpl;lj;jpw;F__________cjTfpwJ. 
a. cyf tq;fp      b. If;fpa ehLfs; rig 
c. tptrha Nkk;ghl;bw;fhd rh;tNjr epjp 
d. Mra tsh;r;rp tq;fp 
e. tpil njhpatpy;iy 

 
62. How many Revenue Districts are there in Tamil Nadu during 2021? 

a. 32  b.33  c. 36  d. 38  e. Answer not known 
2021-y; jkpo;ehl;by; vj;jid tUtha; khtl;lq;fs; cs;sd? 
a. 32  b. 33  c. 36   d. 38  e. tpil njhpatpy;iy 
 

 

63. In an Arithmetic Progression the sum of first 𝑛- terms is 
25 3

2

n n+
. Find 

the 10th term. 
a. 39  b. 59  c. 49  d. 69  e. Answer not known 

xU $l;Lj; njhlhpd; Kjy; 𝑛-cWg;Gfspd; $Ljy; 
25 3

2

n n+
 vdpy;> 10MtJ  

cWg;G  
a. 39  b. 59  c. 49  d. 69  e. tpil njhpatpy;iy 
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64. Find the 19th term of an Arithmetic Progression (A.P)- 11, - 15, -19,…. 
a. -83  b. 61  c. -116 d. 80   e. Answer not known 
-11, - 15, -19,…vd;w $l;Lj; njhlh; thpirapd; 19tJ cWg;igf; fhz;f. 
a. -83  b. 61  c. -116 d. 80    e. tpil njhpatpy;iy 

 
65. Find the next 2terms: 

4,5,12,17,28,37, _____, _____. 
a. 52, 65  b. 50, 66  c. 36, 67  d. 40, 77 
e. Answer not known 
njhlhpd; mLj;j ,U vz;fisf; fhz;f: 
4,5,12,17,28,37, _____, _____. 
a. 52, 65  b. 50, 66  c. 36, 67  d. 40, 77 
e. tpil njhpatpy;iy 
 

66. Two dice are rolled once.  How many possible out comes are there? 
a. 36   b. 26   c. 30    d. 32 
e. Answer not known 
,uz;L gfilfs; xUKiw cUl;lg;gLfpd;wd. mjd; nkhj;j tpisTfspd;  
vz;zpf;if vd;d? 
a. 36   b. 26   c. 30    d. 32 
e. tpil njhpatpy;iy 
 

67. 40 402 2+  is equal to ______________ 

a. 404    b. 802    c. 412    d. 804  
e. Answer not known 

40 402 2+ -d; kjpg;G 

a. 404    b. 802    c. 412    d. 804  
e. tpil njhpatpy;iy 
 

68.  The ratio between the surface area of two spheres is 9 : 16 then what is the 
ratio between the volumes of the two spheres? 
a. 3 : 4  b. 27 :  64  c. 64 : 27  d. 729 : 4096 
e. Answer not known  
,U Nfhsq;fspd; tisgug;Gfspd; (Gwg;gug;G) tpfpjk; 9 : 16 vdpy; 
mtw;wpd; fd msTfspd; tpfpjk; 
a. 3 : 4  b. 27 :  64  c. 64 : 27  d. 729 : 4096 
e. tpil njhpatpy;iy 
 

69. volume of a hollow sphere is 
2

31135

7
cm . If the outer radius is 8 cm, find 

the inner radius of the sphere. (𝜋 =
22

7
 ) 

a. 12  b. 6  c. 5  d. 9  e. Answer not known 
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xU cs;sPlw;w Nfhsj;jpd; fd msT 
21135

7
f.nr.kP kw;Wk; ntsp Muk; 8 

nr.kP vdpy; mf;Nfhsj;jpd; cs; Muj;ijf; fhz;f (𝜋 =
22

7
 )vd;f 

a. 12  b. 6  c. 5  d. 9  e. tpil njhpatpy;iy. 
 

70. Ashish opened a bookshop with an initial investment of ₹ 32,000. In the 
first year, he incurred a loss of 5%.  However, during the second year, he 

earned a profit of 10% which in the third year rose to 112 2 %? Calculate 

his net profit for the entire period of three years. 
a. ₹ 5,620  b. ₹ 37,620  c. ₹ 7,620   d. ₹ 57,620 
e. Answer not known 
M~p~; ₹ 32,000 Muk;g KjyPl;by; xU Gj;jff; filiaj; jpwe;jhh;.  Kjy; 
Mz;by; mtUf;F 5% ,og;G Vw;gl;lJ. ,Ug;gpDk;> ,uz;lhtJ Mz;by; 

mth; 10% ,yhgk; <l;bdhh;. %d;whk; Mz;by; 112 2 % cah;e;jJ. 3 

tUlq;fs; KOtJk; mtuJ epfu yghj;ij fzf;fpLf. 
a. ₹ 5,620  b. ₹ 37,620  c. ₹ 7,620   d. ₹ 57,620 
e. tpil njhpatpy;iy. 
 

71.  If a sum becomes double in 10 years.  What is the annual rate of simple 
interest? 
a. 5%   b. 8%   c. 10%  d. 20% 
e. Answer not known 
10 tUlq;fspy; xU njhif ,U klq;F MfpwJ vdpy; tUlj;jpw;F jdp 
tl;b tPjk; vd;d? 
a. 5%   b. 8%   c. 10%  d. 20% 
e. tpil njhpatpy;iy. 
 

72.  If A : B = 8 : 12 and B : C = 24 : 15 then find the ratio of A : B : C. 
a. 16 : 24 : 15 b. 8 : 24 : 15  c. 12 : 24 : 15  d. 16 : 12 : 15 
e. Answer not known 
A : B = 8 : 12  kw;Wk; B : C = 24 : 15 vdpy; A : B : C d; tpfpjj;ijf; fhz;f. 
a. 16 : 24 : 15 b. 8 : 24 : 15  c. 12 : 24 : 15  d. 16 : 12 : 15 
e. tpil njhpatpy;iy 
 

73.  Find the least number divisible by each of the numbers  
15, 20, 24, 32, 36 
a. 2,880   b. 1,660  c. 1,440  d. 1,330 
e. Answer not known 
15, 20, 24, 32, 36 vd;w vz;fshy; tFglf;$ba kpfr;rpwpa vz;izf; fhz;f. 
a. 2,880   b. 1,660  c. 1,440  d. 1,330 
e. tpil njhpatpy;iy 
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74. Find the number of pairs of positive integers whose sum is 99 and highest 
common factor is 9? 
a. 5  b. 4  c. 3  d. 2  e. Answer not known 
$Ljy; 99k;> kPg;ngU nghJ tF vz; 9k; cila kpif vz; N[hbfspd; 
vz;zpf;if  
a. 5  b. 4  c. 3  d. 2  e. tpil njhpatpy;iy 
 

75. In a leadership election between A and B, A win by margin of 192 votes. 
If A gets 58% of  the total votes.  Find the total vote polled. 
a. 1,000  b. 1,200  c. 1,250  d. 1,300 
e. e. Answer not known 
xU jiyikia Njh;e;njLf;Fk; Njh;jypy; A kw;Wk; B Mfpa ,U egh;fspy; 
A Mdth; 192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngWfpwhh;.  nkhj;j 
thf;Fspy; A Mdth; 58%Ig; ngWfpwhh; vdpy; gjpthd nkhj;j thf;Ffspd; 
vz;zpf;if  
a. 1,000  b. 1,200  c. 1,250  d. 1,300 
e. tpil njhpatpy;iy 
 

76. sound travel at maximum speed in  
a. steel   b. Air   c. Vacuum   d. Water 
e. Answer not known 
_________________y; xyp mjpf Ntfj;jpy; nry;Yk;. 
a. v/F  b. fhw;W  c. ntw;wplk;  d. ePh;  
e. tpil njhpatpy;iy 
 

77. Mosquitoes breed on the surface of fresh water because of  
a. Viscosity   b. Surface tension  c. Cohesive force  
d. Adhesive force  e. Answer not known  
nfhR ed;dPhpd; Nkw;gug;gpy; ,dg; ngUf;fj;ij Vw;gLj;j KbtJ vjdhy;  
a. ghfpay; tpirahy;    b. gug;G ,Otpirahy;    
c. xUq;fpizg;G tpirahy;  d. xl;L tpirahy;  
e. tpil njhpatpy;iy 
 

78. The carbon filament is invented by  
a. Ampere   b. Newton   c. Edison  d. Volt  
e. Answer not known  
fhh;gd; kpd;dpio fz;Lgpbj;jth;  
a. Mk;gpah;   b. epA+l;ld;  c. vbrd;   d. Nthy;l;  
e. tpil njhpatpy;iy 
 

79.  If there is a solar eclipse the street will be dark.  There is a solar eclipse.  
Therefore, the streets are dark.  What kind of reasoning? 
a. Inductive reasoning    b. Deductive reasoning   
c. Conditioned reasoning   d. Linear reasoning  
e. Answer not known 
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#hpa fpufzk; Vw;gl;lhy; mjdhy; njUf;fs; ,UshFk;. #hpa fpufzk; 
,Ug;gjhy; njUf;fs; ,Ushf cs;sJ. ,J vt;tif fhuzg;gLj;Jjy;? 
a. njhFj;jwp fhuzg;gLj;Jjy;   b. gFj;jwp fhuzg;gLj;Jjy;  
c. epiyAWj;jg;gl;l fhuzg;gLj;Jjy;  d. Neh;Nfhl;L fhuzg;gLj;Jjy; 
e. tpil njhpatpy;iy 
 

80. Name the Women’s Indian Association’s newspaper. 
a. stri Darma   b. Mother India   c. Women’s Right  
d. Thai Nadu   e. Answer not known 
,e;jpa ngz;fs; rq;fj;jpd; nra;jpj;jhspd; ngah;  
a. ];jphP jh;kk;   b. kjh; ,e;jpah   c. ngz;fspd; chpik  
d. jha; ehL   e. tpil njhpatpy;iy 
 

81. Which one of the following provisions empowers the Election 
Commission of India to notify election dates? 
a. Section 14 and 15 of the Representation of People Act 1951 
b. Clause (2) of the Article 83 of the constitution 
c. Article 85 (2) (b) of the constitution 
d. Article 172(1) of the constitution 
fPo;fhzg;gLk; gphpTfspy; vJ ,e;jpa Njh;jy; Mizaj;jpw;F Njh;jy;  
Njjpapid mwptpf;Fk; mjpfhuk; mspf;fpd;wJ? 
a. kf;fs; gphpjpepjpj;Jt rl;lk; 1951-d; gphpTfs; 14 kw;Wk; 15 Kyk; 
b. murikg;gpd; rl;l cWg;G 83 d; cg cWg;G (2) d; Kyk;  
c. murikg;gpd; rl;l cWg;G 85(2)(b)-d; Kykhf 
d. murikg;G rl;l cWg;G 172(1) Kykhf 
e. tpil njhpaty;iy 
 

82. Match the following: 
(A) Kissan Suryoday Yojana    1. Fisherman Welfare 
(B) Pradhanmantri Kisan Saman Nidhi  2. Students welfare Yojana 
(C) Sagarkhedu Sarvangi Kalyan Yojana-2 3. Crop Loan 
(d) SHODH Yojana     4. Electricity 

  (A) (B) (C) (D) 
a.  1 3 2 4 
b. 3 2 1 2 
c. 4 3 1 2 
d. 4 1 2 3 
nghUj;jkhdtw;iw ,izapLf :  
a. fprhd; #h;NahNj Nah[dh    1. kPdth;fs; eyd;  
b. gpujhd; ke;jphp fprhd; rk;kd; epjp Nah[dh 2. khzth;fs; eyd;  
c. rhfh;NfH rh;thq;fp fy;ahd; Nah[dh-2  3. gaph;f; fld; 
d. SHODH Nah[dh     4. kpd;rhuk; 

     (A) (B) (C) (D) 
 a.   1   3  2   4 
 b.  3    2     4    1 
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 c.    4    3  1   2 
 d.   4   1  2   3 
 e.   tpil njhpatpy;iy 

 
83.  Match the following:  

List I      List II 
 (a) Bassein oilfield  1. Gujarath Coast  
 (b) Digboi oilfield  2. Western Coast 
 (c) Ankleshwar oilfield  3. Eastern Coast 
 (d) Rawa oilfield   4. Brahmaputra valley 
  (A) (B) (C) (D) 
 a.    2         4        1        3 
 b.    1         2        3        4 
 c.    2         3        4        1 
 d.      3         4        1        2 
 e.   Answer not known  
 gpd;tUtdtw;iw nghUj;jTk;: 
  gl;bay; I     gl;bay; II 
 (a) ghrpd; vz;nza; tay;     1. F[uhj; flw;fiu 
 (b) jpfgha; vz;nza; tay;     2. Nkw;F flw;fiu 
 (c) mq;fNy~;th; vz;nza; tay;    3. fpof;F flw;fiu 
 (d) uth vz;nza; tay;     4. guk;kGj;jpuh gs;sj;jhf;F 
  (A) (B) (C) (D) 
 a.    2         4        1        3 
 b.    1         2        3        4 
 c.    2         3        4        1 
 d.      3         4        1        2 

e.   tpil njhpatpy;iy 
 

84. Name the Russian traveller who visited India in 1474A.D 
a. Nicolas   b. Rusputin   c. Buccannon 
d. Nikitin   e. Answer not known 
1474-k; Mz;L ,e;jpahtpw;F te;j ,u~;ag; gazpapd; ngah;.  
a. epf;Nfhy];   b. u~;Gjpd;   c. Gf;ehzd;  
d. epfpjpd;    e. tpil njhpatpy;iy 
 

85. During the rule of Humayun, Bihar was under the control of  
a. Bahadur shah  b. Baz Bahadur   c. Mohammd Zaman  
d. sher khan   e.  Answer not known 
`PkhA+d; Mlrpapd; NghJ> gPfhiu Mz;lth; ahh;? 
a. gfJ}h; ~h  b. gh~; gfJ}h;   c. KfkJ ~hkd; 
d. n~h; fhd.  e. tpil njhpatpy;iy 
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86. Which one was called industrial tax under Vijayanagar rule? 
1. Attakada sangam, Masthi 
2. Padi kaval  
3. Sandhai Mudhal 
4. Tari Kadamani and chekku kadamai 
a. 1 only  b. 2 only    c. 3 only   d. 4 only  
e.  Answer not known 
tp[a efu murpy; fPo;fz;l ve;j thp njhopw;rhiy thp vd 
miof;fg;gLfpd;wJ? 
1. ml;lfhlh rq;fk;> kh];jp  
2. ghbf; fhty;  
3. re;ij Kjy;  
4. jwpf; flik kw;Wk; nrf;F flik 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk;   d. 4 kl;Lk;  
e. tpil njhpatpy;iy 
 

87. Huns invaded India during the reign of  
a. Kumara Gupta   b. Rama Gupta   
c. Skanda Gupta   d. Vishnu Gupta  
e. Answer not known  
`Pdh;fs; ___________ Ml;rpapd; NghJ ,e;jpah kPJ gilnaLj;jhh;fs;. 
a. Fkhu Fg;jh;   b. ,uhk Fg;jh;   c. ];fe;j Fg;jh;  
d. tp~;Z Fg;jh;  e. tpil njhpatpy;iy 
 

88. Harappa is situated in the Montgomery District of  
a. Persia   b. Pakistan    c. India   d. Iran  
e. Answer not known 
‘`ug;gh’ mike;Js;s khz;l;Nfhkhp khtl;lk; vq;F cs;sJ? 
a. ghurPfk;    b. ghfp];jhd;   c. ,e;jpah 
d. <uhd;    e. tpil njhpatpy;iy 
 

89. Match the following List I and List II  
List I        List II 

 (a)  The Family court Act     1.  1984 
 (b)  Legal services Authority Act   2.  1987 
 (c)  Societies Registration Act    3.  1860 
 (d) Delhi special police Establishment  4.  1946 

(A) (B) (C) (D) 
 a.    1        2        3        4 
 b.    4   3   2  1 
 c.    3         4        1        2 
 d.      2         1        4        3 

e.  Answer not known 
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gpd;tUk; gl;bay; I kw;Wk; gl;bay; II rhpahd nghUj;Jf: 
 gl;bay; I     gl;bay; II 
(a) FLk;g ey ePjpkd;w    1. 1984 
(b) rl;l Nrit mjpfhu rl;lk;   2. 1987 
(c) r%f gjpT rl;lk;     3. 1860 
(d) by;yp rpwg;G fhty; rl;lk;   4. 1946 

(A) (B) (C) (D) 
 a.    1        2        3        4 
 b.    4   3   2  1 
 c.    3        4        1        2 
 d.      2        1        4        3 

e.  tpil njhpatpy;iy 
 

90. When was the Punjab state bifurcated into Punjab and Haryana? 
a. 1966 b. 1956 c. 1963 d. 1947 e. Answer not known 
gQ;rhg; khepyk;> gQ;rhg; kw;Wk; `hpahdhthf gphpf;fg;gl;lJ vg;nghOJ? 
a. 1966 b. 1956 c. 1963 d. 1947 e. tpil njhpatpy;iy 
 

91. The Indian President’s `Veto Power’ is a combination of  
1. Pocket Veto   
2. Absolute Veto   
3. Suspensive Veto    
4. Qualified Veto 
a. 1, 2 and 3  b. 1, 3 and 4   c. 2 and 3  

 d. 2,3 and 4   e. Answer not known 
,e;jpa FbauRj;jiythpd; ‘jLg;ghiz’ mjpfhuj;jpy; cs;slhf;fpapUg;gJ. 
1. ghf;nfl; jLg;ghiz   
2. KOikahd jLg;ghiz  
3.  ,ilePf;f jLg;ghiz   
4.  jFjptha;e;j jLg;ghiz 
a. 1> 2 kw;Wk; 3  b. 1>3 kw;Wk; 4   c. 2 kw;Wk; 3 
c. 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
 

92. In India the constitutionally quaranteed fundamental right to “freedom of 
speech and expression” is subject to the conditions of 
(i) not offending decency and morality 
(ii) not committing any contempt of court. 
(iii) not undermining the security of the state. 
(iv) not against any religious sentiments. 
a. ii only   b. iv only   c. i, ii and iii 

d. i, ii and iv  e. Answer not known 
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,e;jpa murpayikg;Gr; rl;lj;jpy; mbg;gil chpikfSs; xd;whf 
tifg;gLj;jg;gl;Ls;s ‘Ngr;Rr; Rje;jpuk;’ vd;gJ fPo;fhZk; ve;j 
epge;jidfSf;Fl;gl;lJ? 
(i) eag;gz;G kw;Wk; xOf;f newpfSf;F khWghlhf ,y;yhky; 
(ii) ePjpkdw; mtkjpg;G ,y;yhky; 
(iii) murpd; ghJfhg;gpw;F gq;fk; Vw;gLk;gb ,y;yhky;  
(iv) kj ek;gpf;iffSf;F vjpuhdjhf ,y;yhky; 
a. ii kl;Lk;    b. iv kl;Lk;   c. i, ii kw;Wk; iv 
d. i, ii kw;Wk; iv   e. tpil njhpatpy;iy 
 

93. Which of the following is not the instruments of fiscal policy? 
a. Budget    b. Taxation   c. Public debt 
d. Bank rate   e. Answer not known 
gpd;tUtdtw;Ws; vJ epjp nfhs;ifapd; fUtp my;y? 
a. tuT nryT jpl;lk;  b. thp    c. nghJfld; 
d. tq;fp tPjk;   e. tpil njhpatpy;iy 
 

94. _____ Committee was setup to review the concept of poverty line. 
a. Lakdawla committee  b. Suresh Tendulkar committee 
c. Wanchoo committee   d. Dutt committee 
e. Answer not known   
______ FO tWikf; NfhL gw;wpa fUj;ij kWMa;T nra;a 
mikf;fg;gl;lJ. 
a. yf;lthyh FO   b. RNu~; nlz;Ly;fh; FO 
c. thd;# FO    d. jj; FO 
e. tpil njhpatpy;iy 
 

95. Which of the following taxes are levied by Union govt but collected and 
appropriated by the states? 
i. Sales tax 
ii. Stamp Duty 
iii. Excise duties on medical and toilet materials 
iv. Import duties 
Select the correct answer by using the code. 
a. i and ii   b. iii and iv   c. ii and iv 
d. ii and iii   e. Answer not known 
gpd;tUk; thpfspy; vJ kj;jpa murhy; tpjpf;fg;gl;L khepy murhy; 
t#ypf;fg;gLfpwJ? 
i. tpw;gid thp 
ii. Kj;jpiu thp 
iii. kUj;Jt kw;Wk; fopg;giwg; nghUl;fs kPjhd fyhy; thp 
iv. ,wf;Fkjp thp 
FwpaPLfspy; ,Ue;J rhpahd tpil fhz;f. 
a. i kw;Wk; ii  b. iii kw;Wk; iv   c. ii kw;Wk; iv 
d. ii kw;Wk; iii  e. tpil njhpatpy;iy 



 

25 | P a g e  
 

 
96. NITI Aayog established on 

a. January 1, 2014 b. January 1, 2015 c. January 2016   
d. April 1, 2016  e. Answer not known 
_____________ NITI MNahf; mikf;fg;gl;lJ. 
a. [dthp 1> 2014  b. [dthp 1> 2015  c. [dthp 1> 2016 
d. Vg;uy; 1> 2016  e. tpil njhpatpy;iy 
 

97. __________Sector contributes the most Income to Indian Economy. 
a. Primary sector (Agriculture) b. Secondary sector (Industry) 
c. Tertiary sector (Service)  d. None of these 

e. Answer not known 
,e;jpa nghUshjhuj;jpw;F __________ Jiw mjpf tUkhdj;ij 
toq;FfpwJ. 
a. Kjd;ik Jiw (Ntshz;ik) 
b. ,uz;lhk; epiyj;Jiw (njhopy;) 
c. Kd;whk; epiyj;Jiw (Nrit) 
d. ,tw;wpy; VJkpy;iy 
e. tpil njhpatpy;iy 
 

98. Which of the following statements about Brahmo Samaj is Not True? 
a. The purpose of Brahmo Samaj was to reform Hinduism. 
b. It preached belief in one God. 
c. It was based on reason. 
d. It did not incorporate the teachings of other religions. 
e. Answer not known. 
gpuk;k rkh[j;ijg; gw;wp gpd;tUk; $w;Wfspy; vJ rhpahdJ my;y? 
a. ,e;J rkaj;ij rPh;jpUj;JtJ gpuk;k rkh[j;jpd; Nehf;fkhFk;. 
b. xNu flTs; vd;Dk; ek;gpf;ifia mJ Nghjpj;jJ. 
c. mJ gFj;jpwit mbg;gilahff; nfhz;L mike;jpUe;jJ. 
d. mJ gpw rkaq;fspd; Nghjidfis cs;slf;ftpy;iy. 
e. tpil njhpatpy;iy 

 
99. Who among the following led the Khudai Khidmatgars in the Civil 

Disobedience Movement? 
a. Abul Kalam Azad   b. Imam Sahab  c. Kelappan 
c. Khan Abdul Ghaffer Khan e. Answer not known 
rl;l kWg;G ,af;fj;jpd; NghJ ‘Fjha; fpj;kj;fhh;’ vd;Dk; ,af;fj;jpw;F 
jiyik tfpfj;jth; ahh;? 
a. mGy; fyhk; mrhj;   b. ,khk; rh`pg;  c. Nfsg;gd; 
d. fhd; mg;Jy; fh/gh; fhd;  e. tpil njhpatpy;iy 
 

100. Collector Ashe was shot dead by Vanchinathan in the year 
a. June 17, 1911   b. June 19, 1911  c. August 17, 1911 
d. August 19, 1911  e. Answer not known 
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fnyf;lh; M~; thQ;rpehjd; vd;gtuhy; Rl;L nfhy;yg;gl;l Mz;L 
a. [_d; 17> 1911   b. [_d; 19> 1911  c. Mf];l; 17> 1911 
d. Mf];l; 19> 1911  e. tpil njhpatpy;iy 

 
 

 


